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3-555 59 16 9
1
1 708,320 /m
CO,
50m 41.4|kg-Cim® 11.25|m? 465.8 |kg-C
1m 8.34|kg-C/m® 11.25|m° 93.8 [kg-C
0.00154|kg-Clkg 119.4]kg 0.2 [kg-C
1>> 28> 0.3225|kg-C/m® 59.7m* 19.3 [kg-C
2b 2) 0.135{kg-C/kg 548|kg 74.0 |kg-C
0.387|kg-C/m® 6.85|m° 2.7 |kg-C
3.2 0.135]kg-Clkg 5107.5/kg 689.5 [kg-C
1.2255|kg-C/m® 34.05m? 41.7 |kg-C
im 1386.9 |kg-C
2a 400,050 /m
CO,
0.135[kg-Clkg 6000[kg 810.0 [kg-C
0.00154|kg-Clkg 12000]kg 18,5 [kg-C
0.129|kg-C/m® 107.2|m? 13.8 |kg-C
0.129|kg-C/m® 15(m? 1.9 |kg-C
1 41.4|kg-C/m® 1m? 41.4 [kg-C
8.34|kg-C/m® 1m? 8.3 |kg-C
CO, 1m 894.0 |kg-C
2b 368,130 /m
co,
CO, 0.135[kg-Clkg 4800]kg 648.0 [kg-C
0lkg-Clkg 12000]kg 0.0 |kg-C
0.129|kg-C/m® 107.2|m? 13.8 |kg-C
CO, 0.129|kg-c/m® 15m? 1.9 [kg-C
41.4|kg-C/Im® 1m? 41.4 |kg-C
8.34|kg-c/m® 1m? 8.3 |kg-C
1m 7135 |kg-C
CO, 2
/m
CO, 11,000
1 13,523 1,732 0 15,255
t-C 2a 9,569 265 0 9,834
N 7,583 265 0 7,848
7,583 265 -38,400 -30,552
2
80%
3,200 /t 2b
1 428,630
/m 6,369 /m 2a 2b
1
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